6605, SOLUTION, SSC CHSL

Ques 1. ANS (D) Solution:

The meaning of the given words:

Boundless: unlimited, infinite or immense.

Finite: limited in size or extent.

High: great, or greater than normal, in quantity, size, or
intensity.

Vast: of very great extent or quantity, immense.
Expansive: covering a wide area in terms of space or
scope; extensive.

From the meanings of the given words, we can say that
the word 'finite' is the opposite of the meaning of the
underlined word 'boundless'.

Ques 2. ANS (C) Solution:

The meaning of the given words:

Attractive: appealing to look at; alluring, pleasant,
acceptable.

Repulsive: extremely unpleasant or unacceptable.
Unnatural: contrary to the ordinary course of nature;
abnormal.

Modern: relating to the present or recent times as
opposed to the remote past.

Disapproving: expressing an unfavourable opinion.
From the meanings of the given words, we can say that
the word 'repulsive' is the opposite of the meaning of
the underlined word ‘attractive'.

Ques 3. ANS (A) Solution:

Complete Sentence: Christmas is one of the most famous
and light-hearted festivals which is celebrated across the
world by billions of people.

The given sentence "Christmas is one of the most
famous and light-hearted festivals which is ___(1)___
across the world by billions of people" is saying that
Christmas is acknowledged all over the world.
Therefore, the most appropriate word to be filled in the
blank is 'Celebrated'.

Also, the use of the word "festivals" in the sentence
indicates the use of the word 'celebrated' in the blank.
The word 'Celebrated' means To acknowledge a
significant or happy day or event with a social gathering
or enjoyable activity.

Ques 4. ANS (C) Solution:

Complete Sentence: People of the Christian religion
celebrate Christmas to remember the great works of
Jesus Christ.

The given sentence "People of the Christian religion
celebrate Christmas to __ (2)__ the great works of Jesus
Christ" is saying that people of the Christian religion
celebrate Christmas to recall the great works of Jesus
Christ.

Therefore, the most appropriate word to be filled in the
blank is 'Remember".

Also, the use of the word "works" in the sentence ind

icates the use of the word 'remember' in the blank.

The word 'Remember' means To have in or be able to
bring to one's mind an awareness of someone or
something from the past.

Ques 5. ANS (B) Solution:

Complete Sentence: Jesus Christ of Bethlehem was a
spiritual leader and prophet whose teachings structure
the premise of their religion.

The given sentence "Jesus Christ of Bethlehem was a
spiritual leader and prophet whose teachings ___(4)___
the premise of their religion" is saying that Jesus Christ's
teachings organized the premise of their religion.
Therefore, the most appropriate word to be filled in the
blank is 'Structure'.

Also, the use of the word "premise" in the sentence
indicates the use of the word 'structure' in the blank.
The word 'Structure' means The quality of being
organized.

Ques 6. ANS (D) Solution:

Complete Sentence: People follow popular customs
including exchanging gifts, decorating Christmas trees,
attending church, sharing meals with family and friends,
and, obviously, trusting that Santa Claus will arrive.

The given sentence "People __(5)__ popular customs
including exchanging gifts, decorating Christmas trees,
attending church, sharing meals with family and friends,
and, obviously, trusting that Santa Claus will arrive™ is
talking about people going along with popular customs
during Christmas.

Therefore, the most appropriate word to be filled in the
blank is 'Follow'.

Also, the use of the word "customs" in the sentence
indicates the use of the word 'follow" in the blank.

The word 'Follow' means To take an active interest in or
be a supporter of someone or something.

Ques 7. ANS (D) Solution:

Complete Sentence: 25th December is celebrated as
Christmas Day across the world.

The given sentence "25th December is celebrated as
Christmas Day ___(3)___ the world" is saying that 25th
December is celebrated as Christmas Day all over the
world.

Therefore, the most appropriate word to be filled in the
blank is 'Across'.

Also, the use of the word "world" in the sentence
indicates the use of the word 'across' in the blank.

The word 'Across' means From one side to the other of a
place, area, etc.

Ques 8. ANS (C) Solution:

Overstep the mark: To upset someone by doing/saying
more than you should




The meaning of the 'Overstep the mark' is to go beyond
what is proper or allowed by something.

Example: She warned us not to overstep the mark.

Ques 9. ANS (A) Solution:

The meaning of the 'Palsy-walsy friends' is good friends,
pals, or buddies.

Example: I'm surprised you haven't met Ravi's new palsy-
walsy friends from school yet.

Ques 10. ANS (A) Solution:

Correct Sequence: We were flying to England for a week.
As we were checking in, | remembered that | was a
member of the frequent flyer programme. | also
remembered that | had put the frequent flyer card in the
carry-on bag hanging around my neck. The zip on the
bag got jammed and wouldn't open no matter how hard
| pulled at it.

The given question is an example of a Para Jumble.

We know that the first statement of a para jumbled
question is usually an independent general statement, a
noun, a universal fact, starting of an incident, or it starts
with 'most’ or ‘once’.

Sentence B in the given question is the starting of an
incident. It talks about the author flying to England for a
week.

Sentence D will be the next sentence because it tells
about the events that happened when the author was
checking in at the airport.

Sentence C will be the next sentence because it is
connected with Sentence D and further tells that the
author had kept the frequent flyer card in the carry-on
bag hanging around his neck.

Lastly, sentence A will be used because it tells about the
bag's zip getting jammed, and the author couldn't open
it.

Thus, the sequence becomes:

B: We were flying to England for a week.

D: As we were checking in, | remembered that | was a
member of the frequent flyer programme.

C: | also remembered that | had put the frequent flyer
card in the carry-on bag hanging around my neck.

A: The zip on the bag got jammed and wouldn’t open no
matter how hard | pulled at it.

Ques 11. ANS (C) Solution:

The correct sentence is: Vandana said that she was being
dropped to office that day.

In the indirect form, 'today' changes to 'that day'. So, we
can reject option (A) and (D).

The first person pronoun i.e,, 'l' changes to third person
i.e., 'she'.

The direct form is in present continuous form as
indicated by (being dropped). So, the indirect form will
be in past continuous form (was being dropped).
Therefore, option (B) can also be rejected.

The only option which shows the structure of past
continuous form is option (C).

Ques 12. ANS (D) Solution:

She was the cynosure of all eyes at the party.

The word 'cynosure' means- something that strongly
attracts attention by its brilliance, interest, etc. The
cynosure of all eyes, something serving for guidance or
direction; a person or thing that is the center of attention
or admiration.

Use of Noun 'cynosure' (attraction point) in the blank
space of the sentence is appropriate.

Ques 13. ANS (B) Solution:

The correct sentence is "My sister and her husband
broke down when they heard the bad news.

There is an error in part (b).

'broke out' will be replaced by 'broke down'.

Break out means to escape from a place or thing (often
prison). It does not fit into the context.

Break down means to lose control of one's emotions
when in a state of distress.

In the given sentence, we need to use past tense as the
subordinate clause is in the past tense hence, the main
clause should be in the past tense.

Ques 14. ANS (A) Solution:

Abscond - leave hurriedly and secretly, typically to avoid
detection of or arrest for an unlawful act such as theft.
Flee - run away from a place or situation of danger.
Hence from the given meanings, we find that Abscond
and Flee are synonyms.

Ques 15. ANS (D) Solution:

Persecution: unfair or cruel treatment over a long period
of time because of race, religion, or political beliefs.
Oppression: a situation in which people are governed in
an unfair and cruel way and prevented from having
opportunities and freedom.

The exact synonym of the given word 'Persecution’ is
'Oppression’.

Ques 16. ANS (C) Solution:

An imaginary ideal society - Utopia

Utopia: A perfect society in which people work well with
each other and are happy.

Example: Try and imagine a perfect society, a utopia, in
which the government really got everything right.

Ques 17. ANS (B) Solution:

A voluptuous woman has a soft, curved, sexually
attractive body.

Vogue - the prevailing fashion or style at a particular
time.

Equestrian - relating to horse riding.

Aspersion - an attack on the reputation or integrity of
someone or something.

Ques 18. ANS (C) Solution:

'The audience loudly cheered the politician’s speech.’




In the active form, the subject and the object will get
interchanged. So, 'the politician's speech’ will become
the object. The passive form contains 'was' which means
the active form must be in the past tense.

Option (A) is in the present tense.

Option (B) changes the meaning.

Option (D) is in the past perfect tense.

Rules of Conversion from Passive to Active Voice:
Identify the subject, the verb and the object: S+V+0O.
Change the subject into object.

Omit the suitable helping verb or auxiliary verb.

Change the past participle to simple past tense form of
the verb.

Omit the preposition "by".

Change the object into subject.

Ques 19. ANS (D) Solution:

The meaning of the given words:

Flock: a number of birds of one kind feeding, resting, or
travelling together.

Drove: a herd or flock of animals being driven in a body.
Fleet: a marshland creek, channel, or ditch.

Bunch: a number of things, typically of the same kind,
growing or fastened together.

Use of Collective Noun 'Flock’ in the blank space of the
sentence is appropriate.

Ques 20. ANS (C) Solution:

Mortury is not correct, the correct word is mortuary
means a room or building in which dead bodies are kept,
for hygienic storage or for examination, until burial or
cremation.

Fatuous is foolish or silly.

Obituary is a notice of a death, especially in a newspaper,
typically including a brief biography of the deceased
person.

Congress is a formal meeting or series of meetings for
discussion between delegates, especially those from a
political party, trade union, or from within a particular
sphere of activity.

Ques 21. ANS (C) Solution:

The correct sentence is: Sneha agrees that her elder
brother is much clever than her.

‘Elder' and 'eldest’ mean the same as 'older' and 'oldest'".
We only use the adjectives elder and eldest before a
noun (as attributive adjectives), and usually when talking
about relationships within a family.

Example: Let me introduce Siga. She's my elder sister.
Older and oldest can be used to refer to the age of
things more generally. It can be used for both persons
and things.

Example: The town hall is by far the oldest building in
the whole region.

In the above-given sentence, Sneha is referring to one of
her family members.

Therefore, 'older' should be replaced by 'elder'.

Ques 22. ANS (C) Solution:

Complete Sentence: The accumulated dust on the
furniture indicated that the family was long gone.

There are two errors in the bold part.

Firstly, the term "furniture’ is a collective noun. Collective
nouns are used in singular form. Therefore, ‘furnitures’
must be replaced by ‘furniture’ in order to make the
sentence correct.

Secondly, the word ‘family’ has been used in singular
form and should be followed by a singular verb.
Therefore, ‘'were’ should be replaced by ‘was’ in order to
make it a grammatically correct sentence.

Ques 23. ANS (A) Solution:

It is given in the question that the first sentence is in the
correct order:

In the late 1930s, American foreign policy in the Pacific
hinged on support for China, and aggression against
The next sentence will be B because it describes
aggression against Japan- "aggression against China by
Japan"

China by Japan therefore necessarily would bring Japan
into conflict with the United States.

The next sentence will be C because it describes the
incident after 1930(the previous sentences tells us about
1930)

As early as 1931 the Tokyo government had extended its
control over the Chinese province of Manchuria, and the
following year

The last sentence will be D because it completes the
previous sentence and further extension of Japanese.
The Japanese cemented their hold on the region with the
creation of the puppet state of Manchukuo.

Hence, the correct rearrangement: A. In the late 1930s,
American foreign policy in the Pacific hinged on support
for China, and aggression against B. China by Japan
therefore necessarily would bring Japan into conflict with
the United States. C. As early as 1931 the Tokyo
government had extended its control over the Chinese
province of Manchuria, and the following year D. the
Japanese cemented their hold on the region with the
creation of the puppet state of Manchukuo.

Ques 24. ANS (C) Solution:

Chronophobia: The extreme fear of time or time passing.
Chronophobia is the extreme fear of time or time
passing. It can cause severe anxiety, feelings of dread,
obsessive behaviors, and depression. People who are
elderly, ill or imprisoned are more likely to develop this
anxiety disorder.

Ques 25. ANS (C) Solution:

Tammy is heavier than Ashish, even if Ashish is very
muscular.

Comparative degrees are used to compare one or more
objects with other objects (he is stronger, they are
weaker, etc. Many of them use the "er” structure in




comparison by adding either "er” or "ier” after the
adjective. For example - nearer, heavier.
Ques 26. ANS (C) Solution:

IR b1 T b 1 TR B

SHBHRI BT Herdle HA IR,
' | A B C D
3y + - + X

() feam mar wfieun §: 56C28D17B36 = (-2)

I ¥ 2 gl @ dae iR BODMAS faw &1 JaT
PR,

56 + 28 x 17 - 36

=2x17-36

=34-36

=-2

The logic followed is:

Decoding the information:

Symbol | A B c D

Meaning | + - = x

(C) Given the equation: 56C28D17B36 = (-2)

After replacing the signs from left to right and using the
BODMAS rule,

56 + 28 x 17 - 36

=2x17-36

=34-36

=-2

Ques 27. ANS (A) Solution:

SR @ B FEraR A g

In the above diagram there are many triangles as

}v“(

E
BRI ﬁﬁvﬁa’»"rﬁw =16
Thus, there are a total of 16 triangles.
Ques 28. ANS (A) Solution:
TA® fahed @I wira X 3R Forgl &1 a1 | 3T sgan
3R BODMAS faH &1 7T &3+ WR, g UT il &:
On checking each option and replacing the sign from left
to right and using BODMAS rule, we get :
(A) x - + +
=>7x 8-6=225+9+25
=>7x 8-6=25+25
=56-6=25+25
=56-6 =150
=50 =50
Ques 29. ANS (A) Solution:
e
1 Sa¥ 2018 B HHAR AT
TH T I8 H &l 3T 68 = 365

faws fe=i ot T=am = 365/7 = +1

1 SFaT 2018 = GHAR

1 SFa 2019 = JHIR + 1 = HIAAR
1 9HFa™t 2019 = HI@AR

Ques 30. ANS (A) Solution:

The given figure:
Question Figure

ol

Ife 31 T U0 Y ATHid b T8 3R IWd B, af 3Mepfa
3T FHeATeR 318 TR 180 &I gm Swet S s =7 g=ifan
T §:

If we place a mirror to the left of the image, the image
will be rotated by 180 degrees on its vertical axis as
shown below:

L= g N
VAN IS
31T, fased () <1 1 SMpfa &1 Uffda g1

Hence, option (B) is the reflection of the given figure.
Ques 31. ANS (B) Solution:

DI BT Tel HH g,

The correct dictionary order is,

Percentile

Perceptible

Perceptual
Peremptory

Perforation

Ques 32. ANS (D) Solution:

3adp B WX, §H U §1dl § b U S, 3P (d)
3 SfafiRd & S R = cwtar w2

On close observation, we find that the problem figure in
embegole_dr_irlfigure (d) as shown below.

[}
]
o
rer-
LI
==
L |

LI

Ques 33. ANS (C) Solution:




TR, 56 9 Wl e 145 21
The pattern here is:

62 =—=231

31%5 =155

Similarly,
5a

58 = 2 =29

29X 5 = 145

Thus, 58 is related to 145.
Ques 34. ANS (B) Solution:
S BT BT WA STt 39 UbR fear
When the paper is unfolded it will appear as shown
below:

LI 5
[ % |-\
:& ”, /\\
1 ’
’

Ques 35. ANS (C) Solution:
fafafad vdte! &1 IuaiT e aRaie g&f & dar
DAL

%G H Wi af

O Afgen

— | fyaRasier

GHTFAd g&f 3G BIT:
Xe

Za—Fr

Gr

ST, Fr, Gr 1 T dl Hia 41 fa 5
Preparing the family tree using the following symbols:

Symbol in
Diagram

O Female
|:| Male

Meaning

Married
Couple
 — Siblings
Difference of
a generation
Possible tree diagram will be:
Xe
Za—Fr
Gr

So, Fr is either mother or father of Gr.

Ques 36. ANS (D) Solution:

feam T gHeRUIR: 18 = 2 x 4 + 10 -2 = 25

Td® fdded & Sird &Y,

(A) = 3R -518-2x4+10+2=15%25

B)+ 3R+ >18+2x4+10-2=168#25

(€ -3+ 18+2x4-10+2=28#25

(D) x MR -518+2-4+10x2=25=25
TR, x 3R - B ST B F JHIHRUT Tt R |
The given equationis: 18 + 2 x4 + 10 -2 = 25
Let's check each option,

(A) +and - —18-2 x4+ 10+ 2 = 15#25
(B)+and + - 18+ 2 x4 +10-2=16.8# 25
Q-and+ —>18+2x4-10+2=28#25

(D) xand-—18+2-4+10x2=25=25

So, by interchanging x and - the equation will be correct.
Ques 37. ANS (A) Solution:

= i e e | — T J_“'.r, _r_.::_’.-%

+~ [ L o Q- oA

SHICY, @3 @l g = (156 x 3¢ ) = 8=z

— S o=
WA ar Fsd s

i

15z ¢ 13
Bz & 6

. O00r — 36 = 104z — 78
s 14 = 42




Ques 38. ANS (D) Solution:
TTH THTTIT 37 3R ©:

A
&

fsam:

. $& P! e § — I &fs gaft formrs @it §,
391 3 & {6 v HIdl T )

II. $T TRCHIS DU § — 3 (T8 THT § afo FAfda
Te & ol o SR & T8 anepfal B feaman T & 5 18
TRehTS iU, THa el 8)

Il. $& BTS DI § — T (P TS BIS [ATHI® § AR
[t forpTih It B, 39T 31l § foh P bre I ©)
3T, Fad Y | 3R 111 SR IR B |

The least possible Venn diagram is:

(o
>

Envelopes

Conclusions:
I. Some copies are envelopes — True (as all envelopes
are copies, implies some copies are envelopes).

[l. Some postcards are copies — False (it is possible but
not definite as shown in the above figure that no
postcard is copy is possible)..

[ll. Some cards are copies — True (as some cards are
envelopes and, all envelopes are copies, implies some
cards are copies).

Hence, only conclusion | and Il follow.

Ques 39. ANS (B) Solution:

7gi e 3,

86=(8x6)+(8+6)=48+ 14 =62

ERIGRS

49=(4%x9+@4+9 =36+13=49

I UPR, 49 ¥ Teifdd G=1 49

Here, the pattern is,
86=(8x6)+(8+6)=48+ 14 =62

Similarly,

49=(4%x9+@4+9 =36+13=49

Thus, 49 is related to 49.

Ques 40. ANS (C) Solution:

SEEIN A BlcPEFRBGHI PEKLM
R A 1 2 Bla 567 81 lofinhaf iz
I 7 26 [25 [24 [23 [22 [21 |20 [19 [18 [17 |16 [15 [14
SEEI Zlyx wWivpulTls RPN

Tgl, o & AL e ITeT RIFG A § 3R TR & e
e faudia gufdrer &1 R A g
SECRETE T 1922318222022 & U H ferar mar g1

5 E Cc R E T E

T faudta o
M R OH EJIEi e o)

R
A

Y
A

-G
A

19 22 3 18 _22 20
3R, SOUND &1 19126144 & = H forar T g |
S (@] U N D

faodia
I 0

22

¥ | wFm A | wEgaE | 1 | 3

19 12 6 14 4
U TE, NOISE &I It HIST H forar S anfgu-
N (8] | s E

g
HH

fawia
Bk ol

B o)
o+

fawia
WG A

fauda
R A

14 12 18 19
i, 1412181922 TE! IR B
3rd: faped () TR B

Alphabets A B IC D EF |6 H
Positional value 2 B B B B |7 B
Positional value 26 |25 [24 23 2
Alphabets Z Y MKWV

22

I U K L M
9 10111213
18 17 |16 (15 |14
vV v U T[S RQIP DN
Here, Code for consonants is their place value and code
for vowels is the place value of opposite alphabet.

SECRETE is written as 1922318222022.
s E c R E i E

ok

21 (20 |19

Place
Value

Place
Value

Place
Value

Place
Value

Opposite of
Place value

Opposite of
Place value

Opposite of
Place value

19 22 3 18 22 20 22

And, SOUND is written as 19126144.
S 0 U N D

Place | Opposite of | Opposite of | Place Place
Value | Place value | Place value | Value Value

19 12 6 14 4

Similarly, NOISE be written in the same language-
N o) [ s E

Place
Value

Place
Value

Opposite of
Place value

Opposite of
Place value

Opposite of
Place value

14 12 18 19 22
Thus, 1412181922 is the correct answer.
Ques 41. ANS (A) Solution:

TgT SIERUI {51 7 W 9 UDR G,




-4
'HIUL & SHfafed A Gt THH WET BT SR Hd g
3MIT, “HIUL" fawH 31&R T 7|
According to the English alphabet series and its
positional value:
The pattern followed here is:
Vowels

Vowels
1
Zl O I v

4

Vowels
1

All follow the same pattern, except ‘HIUL'.
Therefore, "HIUL" is the odd letter pair.
Ques 42. ANS (C) Solution:

20@ 128 $ 16 % 7 # 22
Udih! 1 91U F T Iea & J1G 3R SISHT (BODMAS)
o9 &1 ST B & §1G,
=29+ 128 =16 x 7 -22
=29 +8x7-22

=29 +56-22

= 85-22

= 63

3T, “63" TSI IR &
Given:

20@ 128 $ 16 % 7 # 22

After replacing the signs from left to right and using the
BODMAS rule,

=29+ 128 +16x7-22

=29+8x7-22

=29 +56-22

=85-22

=63

So, "63" is the correct answer.

Ques 43. ANS (C) Solution:

STRd WY §:

The pattern followed is:
7 9 13 21 37 69

Lo ot N _N_ %

+2 +4 +8 +16  +32

(I I I I

X2 x2 x2 X2
Ques 44. ANS (B) Solution:

fean g,
5,9, 10, 28, 17, 65,
WY Y UHR T8R0T Fl G,
Given,
5,9, 10, 28, 17, 65,
The pattern followed here is,
5 9 10 28 17 65 26

[ O T I O
2°+1 2°+1 341 341 4741 4541 5P
Ques 45. ANS (C) Solution:
T SR o 7T WY Y TR
The pattern followed is:

A B C
+4| +4| +4

A 4 A A 4
E F G
+4| +4| +4

v W

+4| +4| +4

A 4 \4 v

+4| +4| +4
v v W
Q R S
3, Jgl I "MNO" 8

Hence, the correct answer is "MNO".
Ques 46. ANS (A) Solution:

3% U WY 39 UPR ©;

The pattern for this is as follows;




D K Y
+2| -1 -2
v v v
F J W
+2| -1 -2
v v ¥
H 1 U
+2| 1 -2
b v W
J H S
L G Q

3, TE ST "LGQ" &

Hence, "LGQ" is the correct answer.

Ques 47. ANS (D) Solution:

BT (D), UY SHH T BT T gUur ufafea g1

Figure (D) is the correct mirror image of the question
figure.

1 [[E

(D)

Ques 48. ANS (A) Solution:

SEEIN A BEPEFREBHI P KL M
T A 2 B o s fe 7 B P o h2hs
ri——ﬁ—n——{ b6 |25 4 3 [22 |21 [20 f1o [is 17 [1e 15 |14

7 w v T 5 a P p N

ﬁuﬂamﬁws@nwwﬁsﬁwmw%:

s K [ L L s
faudia| faudia| faudid| faudial faudia| faudia
H P R o} o} H
P L A (o E s
fadid| fouda| fawda| fwia| fawda| fooda
K o] 7z X \Y H
YNy, KOZXVH Ta! JR &
3fct: fawed (A) ﬂé’f%
Alphabets BCPpEFRBGHI P KL M
Positional value 1 2 B B4 BB [7 18P op1p2n3
Positional value 26 (25 [24 |23 2 [21 [20 [19 18 17 [16 15 14
Alphabets Z Y X WN U TS RIQIPIPDPN
Opposite letters are used in code language as:
S K I L L S
Opposite | Opposite | Opposite | Opposite | Opposite | Opposite
H P R 0 o] H

Similarly,

P L A C E S

Opposite | Opposite | Opposite | Opposite | Opposite | Opposite

K 0 z X v H
Thus, KOZXVH is the correct answer.

Ques 49. ANS (B) Solution:

o9 &l 3fdh/31eR 1 fRUTT & SHafg B1d 8 Y, s

3ich/31&R Uh G o fAudia € 81

g@mmn 3R 4, §H ¢@ I&hd & [ 'B' 3R 'C’ IHIME
I

When two digits/alphabets are common in both

positions then, uncommon digits/alphabets are opposite

to each other.

Here in dice 1 and 4, we can see that 'B' and 'C' is

common.

D
Slvafely

i i
ST 3 9T faft § 67 &g I & [ D SIRA TS
TR & I B
So from two common trick we can say that D and A are
opposite to each other.
Ques 50. ANS (B) Solution:
7l SR d 39 UHR @:
99 3R el Bl & THR & favid 3
ot S il faT 71T =RT & o< Yeiell ol Gad dgcR &1
IR

1
- {69
|
el

The Logic here is as follows:

Apple and Bananas come under the type of Fruits.
So the diagram which shows the best relationship
between the given variables is:

hel

|~

Fruit
k__/

Apple

Banana
Ques 51. ANS (A) Solution:




o {3 a%g &1 50 ged x T94 ¢

I % = (FsP e - 0 ) /9 T x 100
=z = (=) x 100

= x2 = 14400 - 100x

= %%+ 100x — 14400 = 0

= xZ + 180x — 80x — 14400 =0

= (x + 180)(x - 80) =0

= ¥ =80

< O] 1549 7ed = 80 3UT

Ques 52. ANS (A) Solution:

% BT B Ieftl 6 & g e T ofF = 40%
S 150 3i% WT Fivg 97 50 i & S0l w61 8
EH WA € [,

AFP% =Q

4 @x100
A= B

aH il 3@ = 150 + 50 = 200
UY & IR,

aH Sl 3 — $a 3i B140%
A1 F $@ P

40
o0 %< £ =200

. p__ 200x100
= P==3

= P =500

- iy af 500 1

Ques 53. ANS (A) Solution:

TAEHA & P,

11 B} faHTSTaT:

Tfe fHdt T & ThTdR 3idh! & TN &7 3R 11 I favrsy
B, Y 98 e 11 9 yufa: favrsa gt g1

9 &I [qUTSTT:

Tfe T & 3ipi BT AT 9 J IHTT 8, Y 98 T W 9
T faursg gt

Sia.I

a"rﬂém_

161x 208 &,
= (1+1+4+2+8)—(6+z+0)
= 12—-6—=x
= 06—z

-

Tz — 6, e & 11 ¥ s & R ad g
3= 1 7T S 953y H,

P HAMT=9+5+3+y

HBIHORT = 17T + y
Ty s FERmy =1

gl +y=6+1=7

Ques 54. ANS (A) Solution:

fear mar g:

45— [36 — {20 — (25 — T+ 1)}]

=7 =45 — [36 — {29 — (25 — 11)}]

—7 — 45 — [36 — {29 — 14}]

=7 = 45 — [36 — 15]

—?—45_21

=24

Ques 55. ANS (A) Solution:
IERIKIDIES

24 It BT 3R 48 A SO & U UIfAd AP B
g T 8 3R I 6 I Fwur 9 & unfae A |
CEIRSIGIE

el &1 3 = (g )7r

R & 3 = (5 )nrh

O Tfore. 6 T Brsan o foT sira=aes Ml ! W= 'n'
MERISEIE TR CE B (3)mx6°
Hfdd 2P 1 M = (5 )mr’h

3(q,

Ylfdd 2 DI AT = n Tl BT 3G

= (3)m(24)? x 48 = n x (4)m(6)

= 128 = 4n

=n =232

. Hd & 7Tl B e 32 5
Ques 56. ANS (B) Solution:
fas:

sin'z + 2costz = 2

= sin*z + cos*z + costz = %

= 1—2sin’zcos?z + costz = %

2

= 1—2(1—cos?z) cos?z + cosz = 2

=1 2cos?z + 2cosz + cosiz = 2

= 9cos'z —6cos’z+1=0

= (3cos’z — 1)2 =0

= cos’z = +

= secz =3
Ques 57. ANS (B) Solution:
ﬁ'qTTI'CIT%:
7id ofd § A1 Bt T = YRT BT 0 D 31136 T
19 gRT URT & 3Hd 315 fHH 3R o1 & ufdga 385
el BT gt a1 Hx- H foran T vy = 18 e
B WA § %,
@ = TTfd x gHg




I 1 7T faplyen &, o i oie 9 <19 @1 71id 8z s Her gt
-, URI & 3P0 Tid = (8z + z)

=0z

IR & Wioga Md = (8z — =)

=Tz

T & R,
315 385
= T =18

35 55
= T+ = 18

B0
= - =18

i el 3 71G BT = 8z

=8x5

= 40 fEadfiden

FHIEIE, YR 3Pe Md = (40 + 5) /e

= 45 fpadfidar

WY S N,

- TIa ¥ 225 ot 41 & wfdpe 00 1 H @ aren v = 22

=5%¢
Ques 58. ANS (D) Solution:

ICUIRILI

Ui 7Tl 1 el Wk wEE = 900 + 600 + 1100 + 1200 + 1400 = 5200
Ui Tl @ e AR SEEE = 700 + 900 + 1400 + 800 + 1000 = 4800
anfiy 3w,

— 5200 — 4800
— 400

Ques 59. ANS (C) Solution:
e

=1 & = 2.5% ¥id A8
6 TElH & S1g YA B T8 AR — 13110 ¥0
ufr, A= P+ SI

AR s, ST = PXRxT

100

el P — qusH, R — s sl &y, T — 90a

A1 citfers s or oft 78 ot z ud
SI — x'fé‘;’]'“ = 0.15x

A==z+0.15z = 1.15z
1.15z = 13110
= = 11400
= = &1 U = 0.15 x 11400
=1710 %98
Ques 60. ANS (D) Solution:

35 e # 455 MR P g T HRaAT §

Tid = gl/amy

T = 455 Hiex/35 e

Afp gH o) ufa ue & nifa 61 sirawgdar &
TAWMA & P,

1 fet = 1000 Hiex

1 ¥eT = 60 e

_ (455 x 60)
= i = (1000 x 35)

Tfd = 0.78 faHl/Her

gfad &1 71 0.78 T/ eer 31

Ques 61. ANS (A) Solution:

fEmrmm &

P (s = 22, 000

e ot vt o it = uftse = 10%

TYRifca Ta are faeradl @ uiowd = 20%
T 6 P,

3T = Tdites T o [ : e vt e o e
TyEifeT B A fEmrst = 28 x 22,000 = 4, 400
fewp o oot o el = AL x 22,000 = 2,200
3FUTE = 4400 : 2200

=2:1

Ques 62. ANS (C) Solution:
fears:

PQ = 30 T
[ = 32 9t

=
0Q Id &t AT g

0Q = 16 It

£20QP = 90°

3, UIRYUNTRY YA A = WR:
OP2 = PQ2 + OQ2

= OP2 = 162 + 302

= OP = 1156

OP = 34 It

OP &1 TS 34 I 1

Ques 63. ANS (D) Solution:




e mm &

U grigarg e & o avet yene H A uw, o = 20 3f
farye s1 i = 72 S

A & I,

% gofgag Bya S uRkmm = 2a + b
ue FHfEas e @1 g = (L) x /(40— 5)
Ol a = 20 3t
2a+b="72
> 2% 204+ b="72
40 +b=T2
> b="T72— 40
»b=32
wfiarg e o dwa = (F) x 4/ (4 x 20° - 32%)
> 8 x /(4 x 400 — 1024)
> 8 x /(1600 — 1024)
» 8 % /576
> 8 x 24
. 192 g1 St
. Frfgars Bys o &awe 192 o St e
Ques 64. ANS (D) Solution:
few Ty sl 4,
fmfdr 30% Bl ge dare
SR 20% P g a8
faspT 10% B e a1 g
T8 U it e Al BT UdR B,
30% 3R 20% & SHi¥® Fe & U Uehd A Fe
={30+20-(30x20+ 100} —(YF={a+b-(axb

= 100)}
= (50 - 6) ——(STgT a 3R b HAH FT B)

= 44%
44% 3R 10% & foT0 Uhd THHE e

={44 +10- (44 x 10 = 100)} — (YA ={a+b-(axb
= 100)}

3,

a = 44 IRV IR USH &l it e $ R 3

= {54 - 4.4}

= 49.6%

Sl DY 49.6% B ARATdD e fHrerd 31

From the given data,

Manufacturer gives 30% discount

Dealer gives 20% discount

Seller gives 10% discount

This question is type of gradual discount method,
Single equivalent discount for sequential discount of
30% and 20%

= {30 + 20 - (30 x 20 + 100)} ——(~~ Formula ={a + b -
(@ x b + 100)}

= (50 — 6) ——(where a and b are sequential discounts)
= 44%

Single equivalent discount for 44% and 10%

={44 + 10 — (44 x 10 + 100)} ——(~+ Formula ={a + b —
(a x b+ 100)}

Now,

= a = 44 The above answer is for the first two successive
relaxations

= {54 - 4.4}

=49.6%

~ Buyer gets actual discount of 49.6%.

Ques 65. ANS (A) Solution:

e

z+5=3 ..(d)

y+1=2 . (i)

z+ L =4 . (i)

Teftew (i), (ii) 3 (i) FTAT A T,
>z+y+z+ 1+ +1=9—(v)

378 FHBT (i), (ii) 21 (iii) FT [0 FH W,
?—(rléjy(yl—l?)x(z-i) Ix2x4

(ryl%il—fﬁj(z—;) 24

>eyz+y+z+i+z+ 2 ilmiu 24
:»ry:lﬁ};rly-:-—ilé S =24
> TYz T;r; 0 =24

> TYz 4 .m;; 24—-9=15

S SW1538]

Ques 66. ANS (D) Solution:

:‘-\':l %Eﬂu :ﬁqﬁl

Ut 9 &1 ARG = Yol
o1 &1 Ude 8% = 6x Yol
e T &, 91 & St 1 qTd 27 : 648

ool 1 arge = (%) ¥ =314
G ST F1 A = (Y13l HT 3ar)2
0:16
Ques 67. ANS (C) Solution:




fearga,
sin'z+sinly=3F _.(1)
qHI b, cos 1z +cosly=a ....(2)

(sin™'z +cos1z) + (sin 'y +cosly) = I ta

2

oW cos 'z +cosly = F
Ques 68. ANS (B) Solution:
A&

(a —b)* = a® — b* — 3ab(a — b)
= 33 =279 — 3ab x 3

= 9ab = 279 — 27 — 252

= ab =28

3,

(a+b)%= (a—b)%+ 4ab

= (a4+b)?=3244x28=121
= (a+b) =11

3,
(a__b)3:a3—b3+3ab(a.+b}

I

11°=a®*+b6*+3x 28 x 11
= 1331 = a® + b* + 924

= a®+ b® = 407

Ques 69. ANS (A) Solution:
g

A:B=7:3

aArfe A = 7k, B = 3k 31

AR BHTIAEA R,

AB+B?

AT_B?

_ (Tkx3k)+(3k)?
— " (TR—(3k)2
_ 21k*1ok?

T 40k2_9k?

30k

T 40k2
3

!
Ques 70. ANS (B) Solution:

¢ &1 Ih Y¥IT &FBaA= 2mrh = 88
=>rh =14

=>r=h-86

ESERSREY
r=143M 3R h = 10 I

=2 ta [-sin'z+cos”

1
z = 3]

e &1 B30 = 1.4 x 3/2 = 2.1 9t , Fifp o7 BT 3R
ﬁﬁﬁw%aﬂam&rﬂaz 381

— 7Tel BT 31T = a1

2x2x {2.1}

= 38.808 = 39 5 94

- I 1 HTga = 39 99 941
Ques 71. ANS (A) Solution:

(A) /1250 = 35.35

(B) V16641 = /(129 x 129) = 129

(C) v2025 = /(45 x 45) = 45

(D) VOB01 = /(99 x 99) = 09

¥4 §H 9% $6 9 & 15 1250 U quf +f T8T 21
Ques 72. ANS (D) Solution:
ﬁm%:_

2020 H gRI gRT =t 778 918% = 3500
2020 # A4y gRT 9= 718 915 = 2000

2019 § gIST gRT 9] 7S 9156 = 2400
2019 ® 8T gRT o1 7S 9196 = 3000

%ﬂ T ST AT /@ B WS

zozoﬁ@ﬁﬁ?maﬁmmé%ﬁaﬁwmm
35002000

3ad = 2

5500/2 = 2750

2019 ¥ gieT 3R ITATeT I fireeR =it S archt I8! &1
2400+3000

3rd = 2

5400/2 = 2700

3R = 2750 - 2700 = 50

2020 H BRI 3R ATy & e =it o arell 13!

BT 3T 3R 2019 | gieT 3R AT B! el o=t 5

It ST8eT & 3T BT 3R 50 B

Ques 73. ANS (D) Solution:

A {3 ugelt frserg &1 M frarma sk gast fyerg &1

Nﬁo_c'ﬁ'ﬂmﬁﬁlmﬂqﬂ

o H R P = M 5N

forso # e @ Ae = AL 4 3N
3M 5N

= I8 8
R

., 12M ‘2Q‘N 20M 15N

- 7 & T 8
5N _ 8M

=8 =71

LM _ 3

— N ~ 64

. 34K 35 : 64 5H1 1RU
Ques 74. ANS (B) Solution:
FA9 P TG 1000 = Ui I & RAE I g dd &
8 e gRT g &1 T8 M= 8000 =
A gt & gRI P T Sigd e = x &




3ef BT g™ = x+500 =
I WA B,
3T = (@W%W/@Wﬁﬂ@)

. __ 8000+z+50
= I = (7i
=9z = 8500+ =

= 8z = 8500
(

—i “ﬂ

-z —1062.5%

30 B AFGH = & + 500 &

— 1062.5 + 500 ®

= 1562.5%

Ques 75. ANS (C) Solution:
fearman g:

203TeH 3R 15 TSP U B B! 10 fo H B IHhd §
3R 25 GBW 3R 10 TSd 9 9 forl H R Udhd &1 g1
4 & T,
P = BT &l x $A I

3{d,

HH1 Gl &1 SRIEHd '™’ 8

U8 & HIHR

(20m+15b) x 10 =(25m +10b) x 9

= 200m +150b=225m +90b

= 60b=25m
12b=5m

b _ b

m — 12

l)

)

~
LW L5

o

AN

m:b=12:5

Ques 76. ANS (A) Solution:

ARG I 6T T8 TP UG I 8| URdTead, YRd &
TRIG T B ¥ TP § IUT ST A&y GIa0r YRd &
IAETg ST W g1 J§ A "R g I forr T qur
TP Yo JI' F g

It is a famous dance of classical dance. Bharatanatyam is
one of the famous dances of India and belongs to the
state of Tamil Nadu in South India. The name is derived
from the word 'Bharata’ and is related to 'Nritya Shastra'.
Ques 77. ANS (C) Solution:

SART-TRIH H-0 HHTSR 3 forg fasRR & Q! &t
febott grr < €1 & forg &t feu e 41

SFRT-ARIH YUITe! 1 s [ARIVATY feel Yedd 1 ga
ol § U g% off|

SRT-ARID! - & | forari, RIcudRT 3R saruiedl d R
3R 3= < A1 ThA B

ISR Iy 1 RITGAT 1336 S H WH 92 & gRER
3R FaH1 A Bt AR

The Amara-Nayakas were military commanders who
were given territories to be governed by the Rayas or the
rulers of Vijayanagara.

Many features of this system were derived from the Igta

system of the Delhi sultanate.

Amara-Nayakas collected taxes and other dues from

peasants, craftsmen, and traders in the area.

The kingdom of Vijayanagar was founded by Harihara

and Bukka of the Sangam dynasty in 1336 AD.

Ques 78. ANS (A) Solution:

! B We1Tod B AMD IR b IUANT Bl HH

HA & Y, g TWHR 7 Th 73 Aol - PM YUH R

B B I SIS B, Gﬁﬁmmt‘ﬂm%%ﬁ%m

UIYe @l & PM HaeH & T 5

S IS BT DI 3ET FoIC gl BN AR IR [TUTT

SRI I SIS & T "HISal I Al B

§ad" & A J T fosar S| Sfetst gad &1

%O%Gﬂmﬁ e & U H fem sme it i sard
I

In order to reduce the use of chemical fertilisers by

incentivising states, the Union government plans to

introduce a new scheme — PM PRANAM, which stands

for PM Promotion of Alternate Nutrients for Agriculture

Management Yojana.

The scheme will have no separate budget and will be

financed through the “savings of existing fertiliser

subsidy” under schemes run by the Department of

Fertilizers. 50% of subsidy savings will be passed on as a

grant to the state that saves the money.

Ques 79. ANS (B) Solution:

U JTASHHYE YRA 3R Hicid! & i a7

Uih SdgHHS:

Ig YR & TG o4 3R Sficient & ¢u AP & I

Tid & ST ford & o1 T TaeHEH 5

SASHR=AY 40 I 85 HId (64 ¥ 137 foph =reT, 85 Hia

T 3R 330 Wi (100 Hiey) ¥ HH e 5

U5 4TS (MIRA) Wfed s Aed] BT U BT 8, 3R STH

SiciepTs Uel o s Gid AMMHe § |

AIgEH 19 HH1d Wieiae (SSCP) 167 fhaniieR dat

AT 78R § 3R SRS &t MTaToTg! & YU s a9

¥ foIU TR & WISt T T B WIS! I Th IR e

& iU Bt R ed1 &1 T8 3

The Palk Strait lies between India and Sri Lanka.

Palk Strait:

It is a strait between the Tamil Nadu state of India and

the Jaffna District of the Northern Province of the island

nation of Sri Lanka.

The strait is 40 to 85 miles (64 to 137 km) wide, 85 miles

long, and less than 330 feet (100 meters) deep.

It receives several rivers, including the Vaigai (India), and

it contains many islands on the Sri Lankan side.

The Sethusamudram Ship Canal Project (SSCP) is a 167

km long shipping canal and envisages the creation of a

navigable canal from the Gulf of Mannar to the Bay of

Bengal to facilitate the movement of ships.

Ques 80. ANS (D) Solution:




TRRET 7 19 & 1Y HfNfHaT H% T 39 yardf
AT & S UTt & ga=iie 8T § 3R 3T Siand faera
faggd &1 TaTe HRar gl

Magnesium will react with chlorine gas to form another
substance that is soluble in water and its aqueous
solution conducts electricity.

Ques 81. ANS (B) Solution:

T4 f9eT a&id (HDI) Th Yadhid ¢ ford Igad TP
I HRIHH (UNDP) §RT UBITRId fohdT STl & |

g A4 faeT & T STATH} &1 /YT § 1 i T
3 &:

TS Al AR W SitaA

fR1enm d ugd

S 1 T 9% HHD

The Human Development Index (HDI) is an index that is
published by the United Nations Development
Programme (UNDP).

It measures key dimensions of human development. The
three key dimensions are:

A long and healthy life

Access to education

A decent standard of living

Ques 82. ANS (A) Solution:

YR = Tgard 1P Wifa ST & AFRIE WA TR UNSC
& URATd o U H HAaH fobar Ul

TG 1Y JR& UREG (UNSC) & Faw! o Jaawfd ¥
Tgad Iy i ! o HiHal o fore aMfiies @
SR TN THH TR T TRaTd g1ikd faam T
AfRID! ¥ AT TRATd B BT B 2R | AeT URdTd
AHRIP WY TR UgdT IS -3cli Y& URE PT Tard
BT UTI

India has voted in favour of a UNSC resolution on the
mental health of UN peacekeepers.

Members of the United Nations Security Council (UNSC)
unanimously passed a resolution on mental health and
psychosocial support for personnel of UN peace
operations. Mexico initiated the draft resolution. The
draft resolution will be the first stand-alone Security
Council resolution on mental health.

Ques 83. ANS (A) Solution:

I8 Hifae R e waat aRkamn giar 8 99 sife=r If
HET AT 8| DT Had WSATED HH gIdl § 3R Tg Ay
fa=m &1 M1 81 el 31

BT, Qfad

A physical quantity having magnitude only is called a
scalar quantity. They have numerical value only and
these quantities do not specify the direction.

Example: Length, Time, Speed, Mass, Density, Pressure,
Temperature, Energy, Work, Power

Ques 84. ANS (D) Solution:

W fORRIoTRITg Tgad Uid & Sifad TawR-oRd
3R IR Y= & Ugd TaR U1

TR gl fARISTRITE AIG! P SR TR W g Hdt &

AT ST ST T |

I8 Us URIG URYT SFaurdt & S eTel 9Hg & 1Y IS 3R

HRd & UMD 1

I 2 A 1949 F 25 ST 1950 T Tgard Uid & AR

& =0 H UG FHTeT|

Sir Hormasji Pherozshah was the last governor-general

of the United Province and the first governor of Uttar

Pradesh.

Sir Hormasji Pherozshah Modi was commonly known as

Sir Homi Modly.

He was a renowned Parsi businessman allied with Tata

Group and an administrator of India.

He held the position from 2 May 1949 to 25 January

1950 as governor of the united province.

Ques 85. ANS (B) Solution:

1842 T ffewr oramaR & faam® ArR--Har 83 & th

fasie gan, ot 7ey UeT & sfagr ¥ gaar fagis a4 man

ﬁ%mﬁi‘s’@w 3R TREe & AYIR T fagis &
I

d HEAQR & TS 7S e =g, ERTYR & ISl R TS,
3R RRIGYR & ANl Afgd Fs 3= yg@l & =i gul
gﬁmwsﬁﬁwmwﬁﬁmmﬁaﬁqﬁﬁm

[
fg¥e M8 3R AYHR UM &l Uhs H 3= T a8 § 3ifie
U
AYPHR UTE U B A1 a9 T 3R T HRA Bt
Arp-HUrsit & MRarfad gul
In 1842 there was an upsurge in the Sagar-Narmada
territory against British tyranny, which becomes the
Bundela rebellion in Madhya Pradesh history.
Jawahar Singh Bundela of Chandrapur and Madhukar
Shah of Narhat were the leaders of the revolt.
They were joined by the Gond Raja Dilhan Shah of
Madanpur, Raja Hirde Shah of Hirapur, and several other
chiefs, including those of Narsinghpur.
The British forces tried utmost to curb the Bundela
upsurge.
It took them more than a year to capture Hirde Shah and
Madhukar Shah.
Madhukar Shah became a popular hero and was
glorified in the folk-lore of Central India.
Ques 86. ANS (C) Solution:
RAR b AfAep! &1 a1 ST aTa gate dRdl [RER §
o g & T Sl WIgd, WRIshH AT 31 Sl &
forg fam ST 81 g & dRar & for fean S aran g
T F81 RIDHR 'TEAR deh’ TUT THRT Jad T8 [RBR
IR T 7
The Param Vir Chakra is the highest gallantry award
given to soldiers for acts of extreme courage, valor or
self-sacrifice in times of war. The second highest award
given for bravery in war is '"Mahavir Chakra' and the third
highest award is 'Veer Chakra'.
Ques 87. ANS (D) Solution:




YRd H ufge ure ue Siq fafaear sifaas &1 ufaffia
I

T el fec o A & ot S e 71

3 gfa SR Shtal & U Y SR Sifgda TaeH &
forg = ot B

g 310 I TR B ifdes fAfaear SR RfHehar & SRu
Sifaes fafaerar & fay & s sifde= & 9 U@ |

Y AqHTAT BT ST HERTY | FeTst 3R bRl | Tl
TdqH HeT STl 5|

The Western Ghats in India represent a Biodiversity
Hotspot.

It is also known as the Sahyadri Hills.

They are well known for their rich and unique
assemblage of flora and fauna.

It is one of the world's eight hotspots of biological
diversity due to its high level of biological diversity and
endemism.

The range is called Sahyadri in northern Maharashtra and
Sahya Parvatham in Kerala.

Ques 88. ANS (A) Solution:

THTY TR 2007 H TG TFICTH " xlsx' B

TS URid Udh Saac e Sistiie § off ui-d
HEER IR I & | HISHINITE TRIA 2007 HISH T
ERT I Rd THRid &1 U Ul ¢ | AISshiNide Tad o
TS T8 B13d ahgd & &T | ST Sirelt g

The extension used in MS Excel 2007 is ".xIsx'.

Microsoft Excel is an electronic spreadsheet that runs on
a personal computer. Microsoft Excel 2007 is a version of
Excel developed by Microsoft. Files created in MS Excel is
known as Workbook.

Ques 89. ANS (B) Solution:

Wee BR 3D HIMHR U8 Ul gRI WIRY 2023 Telee Ui
S, AT & e Mifayu ST Bt AT X U™
U1 (IEP) GRT SR} Tellgdl U S9o 2023 & 17d TDHRUT
¥ SFTHR, HRA 2022 Y 7l UG @R 1268 RIFM R 5|
9 e H asdcs Y wR g1 9T 2008 © B fay wifa
BGEaEa| S R a9 IR S gaM 5|

Ques 90. ANS (C) Solution:

TR SITHAAT ST AT HiuTel " & ATH J Al Uy |
8 SdTs 2020 I SATEY T (e g1 |
JIHT 57 29 A 1939 P T YT & gl fordl J gai
Tl

31T d 1 J@e 3T 3gHe STH T

I2H T fhes o TR HiTeht ot 3o ufig Yt
S|

Famous actor Jagdeep was popularly known as “Surma
Bhopali”.

Jagdeep was passed away on 8th July 2020.

He was born on 29th March 1939 at Datiya district
Madhya Pradesh.

His original name was Saiyyad Ishtiyaq Ahmad Jafri.

He played his famous role of Surma Bhopali in Sholay
movie.

Ques 91. ANS (C) Solution:

T & 3T A, faferay s &t U wiadn &, i 1789
3R FYad: 1788 ¥ 1790 B Sfafy H IfId g1 T8 IAab1
SO wic gR1 FIfd fopa T 5, 9IRSt a1g
Higsaarolt &Y fararal &1 o § Sierdhd HH SR THgH
H S | HieR Us digs-Vsai¥ ¥l ¢ | I8 fokiea @
Ugd T, o <ol A uiglaft o ot faan unl faka &t oo
Ukl &1 & §ab 31t Uel T R fobdm 71 7| SHTYHIT
Hfadr 3fddpd I H |

The Book of Thel is a poem by William Blake, dated 1789
and probably composed in the period 1788 to 1790. It is
illustrated by his own plates, and compared to his later
prophetic books is relatively short and easier to
understand. The metre is a fourteen-syllable line. It was
preceded by Tiriel, which Blake left in manuscript. A few
lines from Tiriel were incorporated into The Book of Thel.
Most of the poem is in unrhymed verse.

Ques 92. ANS (A) Solution:

a1 BTt H R o7 TaY URig &g daifar 7|

TR UTeiF YRd &1 T Heaqul 28R o, off Ry 7t &
gdf ¢ R YR IUHETEIY 3R Her TRMAT & Tgayqul
STaRM IR fRYG UT| 3TH! IR 600 9T Yd @1 ¢ | qefRra
& PO WSoX Bad! Wdlsd] 591 §d H THHMS AT &
g & §, 39 918 HIY 9T, SS1-U1, SS1-Whsfias
3R 0T YHTT HId & dIG HiHd ¥ I 3T

The most famous centre of learning during Maurya
period was Taxila.

Taxila was an important city of Ancient India, situated at
the pivotal junction of the Indian subcontinent and
Central Asia, on the eastern shore of the Indus river. Its
origins go back to c. 600 BCE. Some ruins at Taxila date
to the time of the Achaemenid Empire in the 6th century
BCE, followed successively by the Mauryan Empire, Indo-
Greek, Indo-Scythian, and Kushan Empire periods.

Ques 93. ANS (C) Solution:

A, YIRd 1 Ugd SERGRR e 3

AR SR Ko

AR SARGIR Rod SRf&T &3 YRd 1 gal 3R
T8 R TRBIR foid SiRférd &7 8, B avf 1986
T foa T o |

g UfE el § A § ofR 397 YRd & 10 Sa-HFifas
yidl 7 9 2 A 5

HAR IRIRBIR Rord SRfET &= ArereR aui a9 &
SITHITITT &3 & Sfald 31T 6

HGHATS Il SHIRY, TS a-Joid SHIRUY,

3R Trseie dot 39 SR & & iR Hieg Wiz &= 81
Nilgiri is India's first biosphere protected area.

Nilgiri Biosphere reserve:

The Nilgiri Biosphere Reserve was the first and Oldest
biosphere reserve in India established in the year 1986.
It is located in the Western Ghats and includes 2 of the
10 biogeographical provinces of India.

The Nilgiri Biosphere Reserve falls under the




biogeographic region of the Malabar rain forest.

The Mudumalai Wildlife Sanctuary, Wayanad Wildlife
Sanctuary Bandipur National Park, Nagarhole National
Park, Mukurthi National Park, and Silent Valley are the
protected areas present within this reserve.

Ques 94. ANS (D) Solution:

W/%rﬁm‘r &1 FTRUIRICHY HFT TRR & AGHH B §1Y
REEHIN

TISUIIAAY 31U WK T Th Hequ! T § St
3% Hs FHATE IRIRSG Sl B AT IRAT 81 B
FRUITHY f[ABR S SR doM &1 gHwrsf I o <d
&1 98 IR F a9qH B | ¢ 7| 5 |

Hypothalamus parts of the body/glands maintain the
body temperature.

The hypothalamus is an important part of your brain that
controls lots of your basic bodily functions. Some
hypothalamus disorders lead to hormone and weight
problems. It also maintains the body temperature.

Ques 95. ANS (C) Solution:

T B BT 3], k1Y & FU H B & SRR FHIIH B
el o1 § SR 39 HHARAT a1 S Jaie gRI L&
foaT o1 AT 8 | 519 HHANA! §RT Usd $I STl g, dl

B BT 31 Ie YUl faRIY & Uh e & 39 & Uhd
FHHIR AT HHATRAT & THE GRT BRI &b A DI Havid
FA B

A work stoppage refers to the temporary cessation of
work as a form of protest and can be initiated by either
employees or company management. When initiated by
employees, work stoppages refer to a single employee
or group of employees ceasing work purposefully as a
means of protest.

Ques 96. ANS (C) Solution:

YR AU St a1t Sy g ToawT ¥ict & aifdes
& IR & K 5

T 0/ ERMIA U= J T o aTdl o9 THT &
Yol B T wigur Bt Tl SR grT au B E B
YR H, ITl/Ha2nyd TSR &f It gof el iR iRk
BIdl & SR & BIe ATl & 1Y AT Bl g H 3ifiew
gfafafer € firadt 8

The Fourth Schedule of the Indian Constitution tells us
about the Allocations of Rajya Sabha Seats.

The Number of Members of the Rajya Sabha to be
elected from Each state/Union Territory has been fixed
by the Fourth Schedule of the Constitution.

In India, the seats of states/Union territory are
dependent on the Larger Size of the population gets
more Representatives seats than the states with Smaller
Populations.

Ques 97. ANS (B) Solution:

AP NI I IR 3 TS YRR 3R ¢ TS H, Crl
+ F U& @I sla Qiedl g Sl 3! IoHH axdrast § adf,
TRe 3R T B WIS PR B 3 T 31 IS A
fIRY EU Y, Ctrl + F AR <Reb U7 H Th T sl
e g

In Microsoft Word, and other word processors and text
editors, Ctrl+F opens a find box that allows you to search
for characters, text, and phrases in the current document.
In Word specifically, Ctrl+F opens a search box in the
Navigation task pane.

Ques 98. ANS (D) Solution:

qTE & WA o I gard o e
EESIRESREISEISS]

Troon, ST SR TAUTST 3o SMenRd are=

il A dTed 18

T URde 3R ISTHA HATTT 10% F 25% NS ¢y Pt
R Y e JH1 U3 & TIIHIhRUT & JHY 313 el
3 QR gRag areHl R T W= ¢ v

A T & W1 I Ul b T IMoRa 1 T S1eRT TTdl
T T ST 3R 39T SUANT dHad Ugyu § fAue & forw
fepar |

¢ ToIgd Joh, A aTe 3R dafus su o s
HTeoll, ST TR TAdiel TR 9o ard SR @t & SuanT
DI ge & ST |

Vehicles will be Exempted from the Green tax, recently
announced by Ministry of Road Transport and Highways:
Electric vehicles

CNG, ethanol and LPG fuel based Vehicles

Farming vehicles

The Ministry of Road Transport and Highways will levy a
green tax on transport vehicles older than eight years at
the time of renewal of fitness certificate at the rate of
10% to 25% of road tax.

The revenue collected through the green tax will be kept
in a different account and will only be utilised for
tackling pollution.

Exemptions: Vehicles like strong hybrids, electric vehicles
and those running on alternate fuels like CNG, ethanol
and LPG and vehicles used in farming, such as tractor,
harvesters and tillers will be exempted.

Ques 99. ANS (A) Solution:

e daf foven sy o= & fR¥yd g

ISR faer sfiyl U= & fowufa & fRyd 1 =t fa
11 9 TrTed] H Arad ! gRT SR T oI, 3R ITH
3 oM XdTfecd! dob R fohar| 38 918 H fIegwR
TS 3R AR AR X! §RT dheaTl Hx ferdT T |
ISR fohel & G TRTAT 1ol HEd, TS &1 J8d AT

The Historic Chandragiri Fort is situated in Andhra
Pradesh.

Chandragiri Fort is located in Tirupati, Andhra Pradesh.
Chandragiri Fort was built by the Yadava Rulers in the
11th century, and they ruled it for over three centuries. It
was later captured by the Vijaynagara kingdom and then
by the Mysore rulers. The main structure in the
Chandragiri Fort is the Raja Mahal, the king's palace.

Ques 100. ANS (A) Solution:
HRAH efties Sfaq & faia fay Ssftie
<UTARIY & Brg-d 79 H g ard Ugd YR faers!




TN &1 A gu™ J, & HNepid Brg-d 7= § RMMR &
e B g & RIAP BR 7Y 3R I57d Uedh Siid forrl

& fipbTd DI U 2018 H ISfiicd Ice B (BWF)
Wﬁ{mirmmw 1 21 fem T o1 3R 2015 & 39
REGR 3R 2018 & U1 ot & UIeaaved &

Indian badminton champion K.Srikanth has become the
very first Indian man to reach the final match of BWF
World badminton championship. But unfortunately,
K.Srikanth lost against Singapore’s Loh Kean Yew at the
final match and ended up winning a silver-medal.
K.Srikanth was ranked world number 1 at the Badminton
World Federation (BWF) ranking in April 2018 and is the
recipient of Arjuna award in 2015 and Padma Shri in
2018.




